


Get ready

Here is your starter.




1) Tens are 10 times the size of

Ones are 10 times the size of

2) Tenths are one-tenth the size of

Hundredths are one-tenth the size of

3)1is the size of 100

4) 0.356 = 0.3 + + 0.006
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1) Tens are 10 times the size of ones

Ones are 10 times the size of tenths

2) Tenths are one-tenth the size of ones

Hundredths are one-tenth the size of tenths

3)1is one-hundredth the size of 100

4)0.356 =0.3+ _0.05 +0.006
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Let's learn

Get ready for today’s
new learning.
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There are 2 tens, 4 ones, 4 tenths, 3
hundredths and 1 thousandth.

The numberis 24.431

Have a think m
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Use a place value chart and plain counters

to represent 2.423

Hth

Thth

There areDones, Dtenths, Dhundredths
anthhousandths.

Have a think m



Write the value of the digit 4 in each number.

1.04 43.027 0.274

Have a think m



Write thHheTcmgit 4in 858h numb&h

1.04 43.027 0.274
4 hundredths 4 tens 4 thousandths



Match each number to the correct child.

1.04 43.027 0.274

l My number has zero tenths.

Alex

My number has seven hundredths. }
Whitney

My number has seven thousandths.

Dexter
Have a think m
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T tth hth thth
1.04 43.027 0.274
l My number has zero tenths.
Alex

My number has seven hundredths. }
Whitney

My number has seven thousandths.

Dexter

Match each number to the correct child.
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Your turn

Have a go at questions 1 - 3 on
the worksheet

O




Complete the part-whole model.

3+ 064+ 0.02+ 0.007

Have a think m
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represents 1 whole E represents 0.01

represents 0.1 ® represents 0.001
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@ 3+ 06+ 0.02+ 0.007 =3.627
@ @ 3+ 05+ 0.12 + 0.007 =3.627

@ 34 04+ 022 + 0007 =3.627
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The place value chart on the left
represents the greater number.

Have a think m
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2 ones, 1 tenth and 3 hundredths

2.13

1 one, 11 tenths and 3 hundredths

2.123
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Which is the odd one out?

2+ 0.1+ 0.02+ 0.003 2.123

1+ 1.1+ 0.02 + 0.003 2.123

T

< 2+1.1+0.03 > 3.13

\ /

2+0.1+0.01+0.013 2.123

2N

2 + 0.1+ 0.023 2.123

J

_ Have a think m
Explain your answer.
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Your turn

Have a go at the rest of the
guestions on the worksheet

O




